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For Questions number 1 and 2, pleaselook at pictureA. (R4 1fr 2 HFFH A =)
¥ 148
Question: Where is the man?
=iF 3 :(A)lnarestaurant. (B)In aliving room.
(©)In abookstore. (D)In adining room. [
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Question: What is the man doing?
=iF 7 :(A)Heiswatching TV. (B)He isreading a book.
(C)Heislistening to the radio. (D)He is reading a newspaper. [&
G
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For Questions number 3 and 4, please look at pictureB. (R 3£ 3 {4 7 B B - )
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Question: What isthe girl doing in the classroom?

=i 78 ! (A)Sheiscleaning the desk. (B)She s eating a hamburger.
(C)Sheistyping on the laptop. (D)Sheistalking on the phone. [
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Question: Which of the following statementsis true?
=:i% 18 ! (A)The students are sleeping.

(B)The girl is having her dinner.
(C)The boy next to her is reading a book.
(D) The teacher is talking to the students now.
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For Questions number 5 and 6, please look at picture C. (K 3£ 5f= 6> 37 B C - )
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Question: What is the weather like?
=i 78 1 (A)I'swindy. (B)It'ssunny. (C)lt'scloudy. (D)It'ssnowy.
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Question: What are the people doing?
ill. (B)They are having a BBQ party.

=i% 38 :(A)They are skiing on the hill
(C)They are holding their raincoats. (D)They are holding their umbrellas
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Eor Questions number 7 and 8, please look at pictureD. (42 7 {= 8 iH B D °)
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Question: How will the girls pay for the ice cream?
(B)They will pay by credit card

=i 38 ! (A)They will pay by cash.
(C)Theice cream is free today.
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Question: How much will they have to pay for two ice creams?
=i JE 1 (A)$200. (B)$150. (C)$100. (D)$50.
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(D)Their mother will pay for them.
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For Questions number 9 and 10, please |ook at picture E. (F* 4% 9 f~ 10 »
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Question: Where is the supermarket?

=iF 38 :(A)lt'son Queen’s Street.
(B)It's next to the train station.
(C)lIt’s across the street from the church.
(D)It’s between the travel agency and the church.
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Question: How would you get to the travel agency from the train station?
=i 78 ! (A)Go straight down First Avenue.

(B)Turn left and go straight down King's Street.
(C)Go straight on Second Avenue and turn right on Queen’s Street.
(D)Go straight down Second Avenue and turn left on Queen’s Street.
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¥ = ix i =¥ 35 (Dialogue Comprehension)

% ¢ W: Areyou going to Sam’s birthday party?

M: Yes. But | might get there alittle late.

W: What time do you think you’ Il arrive?

M: I'll arrive at 7:30 p.m.

Question: What does the woman want to know?
=i 38 :(A)Shewantsto know what timeitis.
(B)She wants to know how old Samis.

(C)She wants to know when Sam will arrive at her birthday party.
(D)She wants to know when the man will arrive at Sam’s birthday party.
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M: I didn’t know you could speak Chinese.

W: Yeah, I’ ve also studied Japanese since | wasfive.

M: Wow, that’s cool.

Question: What language can the woman speak?
* (A)Only Chinese.

(B)Only Spanish.
(C)Only Japanese.

§ AR in gy 2 ?

Lt HeF o N T B P2 oo
g I\:i 47 fzeel

LG gHRPEFT?

( )\'_"”ﬁ ¢ oo (B)F:”ﬁ
¥+ &5

: M: The bread smells really good.
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(D)Both Chinese and Japanese.
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W: Yeah, we've just made it. Do you want to buy some?

M: Of course. Please give me aloaf of it.

W: Ok. Here you go. And there are some free cookies.

Question: Where is the man?
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% © M: Oh, no, it'sraining hard.

W: We can’'t go on apicnic, then.
M: That's too bad.
Question: Why can't they go on a picnic?

(C)Because they are tired.

J 1A RAA TEA
4:€ﬁAWT1ui%% o
7 aﬁﬁ»'

LPE A WE?
:(A){ﬂ;‘;%;{?z%o
OCOFEemET o

* M: What isyour mother’sjob?

W: She works as a cook.
M: Does she teach you how to cook?

W: Yes, we often cook together on weekends.

-68-

(B)FI % ¥+ 2
(D)F1 5 & 3 fufs
(iadgfeds ] #3567 BEIFIE A T R4 9002 i 4 R

‘(A)lInagarage. (B)Inabakery. (C)Inahospital.

S

FTS

: (A)Because the weather isbad.  (B)Because the man is sick.
(D)Because the woman is busy.

(D):‘ éfrg 2 o

(D)In a bookstore.
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Question: What does the woman’s mother do?
=if JE :(A)Sheisacook. (B)Sheisanurse.
(C)Sheis ateacher. (D)Sheis ahousewife.
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g4 ™ % © M: What nice weather! Let’s go hiking.
W: Well, did you get your homework done?
M: Ah, do | have to?
W: Well, no playing until the work is done.
Question: What does the man want to do?

=if 38 ! (A)Watch TV. (B)Go play outside.
(C)Play video games. (D)Finish his homework.
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4% ;% * M: Hi. My name's Tom.

o O ime. [DzIuHiEEe.

W: Hi, Tom. Nice to meet you. My name is Juanita, but everybody calls me Jenny.

M: Nice to meet you, Jenny. So, where are you from?

W: Well, | was born in Argentina, but we moved to the United States when | was five years old.

Question: Where was the woman born?
=i 3 ! (A)China.  (B)England. (C)Argentina. (D)The United States.
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&5 M F © W: How areyou, Steve?

M: Well, | started to feel sick this Sunday afternoon.
W: What seemsto be the problem?
M: | thought | had the flu, but the doctor said it was just a bad cold.
Question: What's the matter with Seve?
=i¥ 78 :(A)Hehasacold. (B)He has the flu.
(C)He has a headache. (D)He has a stomachache.
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5 M A ¢ W: Hi. Can | help you?
M: Yeah. | need apair of running shoes.
W: Okay, what type of running shoes do you want?
M: | need a pair of street shoes, and | need them to make me run fast.
Question: What does the man want to buy?
=iF 78 : (A)A backpack. (B)A sports shirt.
(C)A pair of running socks. (D)A pair of running shoes. [&%
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4=+ ;% W: Hey. | know you're leaving. Could you give me aride to the bus station?
M: Sure. Get in.
W: Thank you. My bus leaves in about 20 minutes, and | don't have time to walk there.
M: No problem.

Question: Where is the woman going?
=i I8 :(A)Thelibrary. (B)Theairport. (C)Thebusstation. (D)Thetrain station. [£¥%
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F 218 [P o] AL ERT L -

[4Ef247] Whilefs e 3 &% 2728 > % ¥ %5 B
¥ 228 [7 2 gmf] 7R Ruhd g g

Ragiai7] Teste Az k~& % %30 7 AL 5w A6 ARlw wEhi A
¥ 233 [ v 4w¥] Jennifer frstgna gl -

[;#48f#47])] nether AnorB {4 & erd i@ B AL B @ o4 B E 1ot Bfam & ¥ % %

-70-

(\

: D)

: C)

Bo



¥ 243

¥ 2548

¥ 2648

% 274

% 284%:

(" *3¥)
(#3471

[¢ 2 #3%]
[F#42i247]
[¢ 2 3%])
[Fagj#47]

[ ~#:¥]
(#agjzit]

(¢ * 3] |
Lieaai#it]

[* < 2]
Gagi#i]

(7 < d¥]
(#4gf217]

[¢ < 8]
[ieagizic]
CRE=5
[i#4gi#47]
CRE=5
[i#agizie]
[¢ <] |
[ieagizic]

[ ~#:¥]
(#agj#it]

B E R PR PR R

TER w2 Lfly s 5 0 highe 2407 § % BP 85 PR
BA BB ERL A

FAGEN & & KA e

Quit fefend PR ez d L3 s E %5 Co

Jennifer £ fr# - 421 ¥ = # 4 o

TREY A M AR L A F A girl PR Aot - Ao (Fehk 3y FL R H
with 4c B i who shX @ whom:» & & % 5 D -

Nnd 5 FOBLAS AR o FRGEVE EAF - R 1 B i

] Pt 830 have » have+$ $+8 303 4 A A48 5 BRY 2 s
,%; C-

PRGRF G EATEPRIE - B A EERET E o
T-mw%r?~ufﬁz%a@ﬁj’ﬁa@ﬁ;F%ﬁ@%uﬁ%wzj’ﬁ
E%5Co
SRR g TERLT o £55?

354 +hE_tag question - tag question FPFRE & 20 s - &0 4 S E ¥ 20 tag

question;jb-* RIS FRZTR S mERE B
A PRI M Joe il LR P2 RE e AP A b i ,Pwﬁ%; % §T
$ 2E¥ ehg_tag question > tag question FpF AR R 7 A - ko A 9§

questionﬂ%@pﬁaa’ﬁaﬂx v E&x L Do

: & 2 (Sentence Arrangement)
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